
æ Point, 89 configs

à Z3, 51 configs

ì Replaced, 51 configs
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mΠ=100. MeV Hmass 1L
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mΠ=140. MeV Hmass 2L
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mΠ=180. MeV Hmass 3L

æ

æ

æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æææææææææææææ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ

æ

à

à

à

à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

ààààààààààààà
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à

à

à

ì

ì

ì

ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ììììììììììì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì

ì

ì

0 10 20 30 40 50 60

-2.5

-2.0

-1.5

-1.0

t

ps
L

og
10

@G
D

mΠ=210. MeV Hmass 4L
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mΠ=240. MeV Hmass 5L
æ

æ

æ

æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æææææææææ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ

æ

æ

à

à

à

à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

ààààààààà
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à

à

à

ì

ì

ì

ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ììììììììì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì

ì

ì

0 10 20 30 40 50 60
-3.5

-3.0

-2.5

-2.0

-1.5

-1.0

t

ps
L

og
10

@G
D

mΠ=270. MeV Hmass 6L

æ

æ

æ

æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æææææææ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ
æ

æ

æ

æ

à

à

à

à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

ààààààààà
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à
à

à

à

à

ì

ì

ì

ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ììììììììì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì
ì

ì

ì

ì

0 10 20 30 40 50 60

-3.5

-3.0

-2.5

-2.0

-1.5

-1.0

t

ps
L

og
10

@G
D

mΠ=290. MeV Hmass 7L
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mΠ=310. MeV Hmass 8L
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mΠ=330. MeV Hmass 9L
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mΠ=350. MeV Hmass 10L
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mΠ=380. MeV Hmass 11L
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mΠ=416. MeV Hmass 12L
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mΠ=450. MeV Hmass 13L
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mΠ=510. MeV Hmass 14L
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mΠ=556. MeV Hmass 15L


